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Exercise 1

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb


1. In , P is mid point of BC, then 


 


BP= ……..

Watch Video Solution

ΔABC

https://dl.doubtnut.com/l/_rv4JM6OEPdbT


2. In , P is mid point of BC, then 


 


AP is a …….of 

Watch Video Solution

ΔABC

ΔABC

https://dl.doubtnut.com/l/_kNmHpUTRVxg3


3. In , P is mid point of BC, then 


 


= …….

Watch Video Solution

ΔABC

∠ADC

https://dl.doubtnut.com/l/_qx1BWFIzzKpC


4. In , P is mid point of BC, then 


 


BD= BC (True/false)

Watch Video Solution

ΔABC

https://dl.doubtnut.com/l/_wofFOYU6dlWi


5. In , P is mid point of BC, then 


 


AD is an ……of 

Watch Video Solution

ΔABC

ΔABC

https://dl.doubtnut.com/l/_QQEOo5v8pgTH


6. Draw AD, BE, CF three medians in a 

Watch Video Solution

ΔABC

7. Draw an equilateral triangle and its medians.

Also compare the lengths of the medians.

Watch Video Solution

8. Draw an isosceles triangle ABC in which

AB=BC. 

https://dl.doubtnut.com/l/_L6oOKjPl46yN
https://dl.doubtnut.com/l/_Ci5j16t1kyJr
https://dl.doubtnut.com/l/_FCCHPc8gSV4c


Also draw its altitudes.

Watch Video Solution

9. Find the value of the unknown exterior

angles 

Watch Video Solution

https://dl.doubtnut.com/l/_FCCHPc8gSV4c
https://dl.doubtnut.com/l/_MWgmPxz7VYvk
https://dl.doubtnut.com/l/_7NHenyam3HvJ


10. Find the value of the unknown exterior

angles 

Watch Video Solution

11. Find the value of the unknown exterior

angles 

https://dl.doubtnut.com/l/_7NHenyam3HvJ
https://dl.doubtnut.com/l/_63kWlmuHcRmb


Watch Video Solution

12. Find the value of the unknown exterior

angles 

https://dl.doubtnut.com/l/_63kWlmuHcRmb
https://dl.doubtnut.com/l/_XziWSCwLIPxc


Watch Video Solution

https://dl.doubtnut.com/l/_XziWSCwLIPxc


13. Find the value of x in the following figures 

Watch Video Solution

https://dl.doubtnut.com/l/_KMDD7QUH8hf6


14. Find the value of x in the following figures 

Watch Video Solution

https://dl.doubtnut.com/l/_76TGxP3yDgCH


15. Find the value of x in the following figures 

Watch Video Solution

https://dl.doubtnut.com/l/_SdBnmQVGQvuW


16. Find the value of x in the following figures 

Watch Video Solution

https://dl.doubtnut.com/l/_w8YZhwEPUDOv


17. Find the value of y in following figures 

Watch Video Solution

https://dl.doubtnut.com/l/_Saen4qan9kcQ


18. Find the value of y in following figures 

Watch Video Solution

19. Find the value of y in following figures 

https://dl.doubtnut.com/l/_o1QfU4AjgK9p
https://dl.doubtnut.com/l/_znCdk1WXLYGc


Exercise 2

Watch Video Solution

1. State, if a triangle is possible with the

following angles 

Watch Video Solution

35∘ , 70∘ , 65∘

https://dl.doubtnut.com/l/_znCdk1WXLYGc
https://dl.doubtnut.com/l/_nTLUpemegise


2. State, if a triangle is possible with the

following angles 

Watch Video Solution

70∘ , 50∘ , 60∘

3. State, if a triangle is possible with the

following angles 

Watch Video Solution

90∘ , 80∘ , 20∘

https://dl.doubtnut.com/l/_kxEoBJLrMY1B
https://dl.doubtnut.com/l/_LeNcA9kj9kQE
https://dl.doubtnut.com/l/_6BGW6sjshs3a


4. State, if a triangle is possible with the

following angles 

Watch Video Solution

60∘ , 60∘ , 60∘

5. State, if a triangle is possible with the

following angles 

Watch Video Solution

90∘ , 90∘ , 90∘

https://dl.doubtnut.com/l/_6BGW6sjshs3a
https://dl.doubtnut.com/l/_ikCtrX8XcVAs
https://dl.doubtnut.com/l/_fCfmGZTHD9Tc


6. Find the value of x in the following figures 

Watch Video Solution

https://dl.doubtnut.com/l/_fCfmGZTHD9Tc


7. Find the value of x in the following figures 

Watch Video Solution

https://dl.doubtnut.com/l/_m3RKNBttkWY2


8. Find the value of x in the following figures 

Watch Video Solution

https://dl.doubtnut.com/l/_yzdLKoxEoNZh


9. Find the value of x in the following figures 

Watch Video Solution

https://dl.doubtnut.com/l/_1YxAlFP4QzDt
https://dl.doubtnut.com/l/_a5ZCftIy8mbX


10. Find the value of x in the following figures 

Watch Video Solution

https://dl.doubtnut.com/l/_a5ZCftIy8mbX


11. Find the value of x in the following figures 

Watch Video Solution

12. Find the values of x and y in the following

figures 

https://dl.doubtnut.com/l/_nmTKrWZMUwOP
https://dl.doubtnut.com/l/_UizX20fPZm4G


Watch Video Solution

13. Find the values of x and y in the following

figures 

https://dl.doubtnut.com/l/_UizX20fPZm4G
https://dl.doubtnut.com/l/_sicb6Kc0dpRI


Watch Video Solution

14. Find the values of x and y in the following

figures 

https://dl.doubtnut.com/l/_sicb6Kc0dpRI
https://dl.doubtnut.com/l/_QPKuk70jyCCn


Watch Video Solution

https://dl.doubtnut.com/l/_QPKuk70jyCCn


15. Find x in the following figures. 

Watch Video Solution

https://dl.doubtnut.com/l/_jLrTKNXuaKMr


16. Find x in the following figures. 

Watch Video Solution

17. Find the values of x and y in the following

figures 

https://dl.doubtnut.com/l/_zadLTZTKjmLk
https://dl.doubtnut.com/l/_TtWgZmdl4sxa


Watch Video Solution

18. The angles of a triangle are in the ratio

. Find the measure of each of the angles.

Watch Video Solution

5: 6: 7

https://dl.doubtnut.com/l/_TtWgZmdl4sxa
https://dl.doubtnut.com/l/_d3C2LHB8TMZ9
https://dl.doubtnut.com/l/_u0cU05mnXj1g


19. One angle of a triangle is . The other

two angles are in the ratio . Find the

angles.

Watch Video Solution

60∘

4: 8

20. In a triangle ABC, 

Find 

Watch Video Solution

∠B = 50∘ , ∠C = 62∘

∠A

https://dl.doubtnut.com/l/_u0cU05mnXj1g
https://dl.doubtnut.com/l/_4XrkPR4n4UI5


21. In a right angled triangle two acute angles

are in the ratio . Find the angles.

Watch Video Solution

2: 3

22. Three angles of a triangle are

. Find

the angles

Watch Video Solution

(2x + 20) ∘ , (x + 30) ∘ and (2x − 10) ∘

https://dl.doubtnut.com/l/_U8Lbc8zcLY9d
https://dl.doubtnut.com/l/_PD3uGYwxRz9D


23. Multiple choice questions 

A triangle can have two…..

A. Acute angles

B. Obtuse angles

C. Right angles

D. None of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_jsa7Fc4GvgRh
https://dl.doubtnut.com/l/_02DUKNjhQvt8


24. Multiple choice questions 

A triangle is possible with measure of angles

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

30∘ , 40∘ , 100∘

60∘ , 60∘ , 70∘

60∘ , 50∘ , 70∘

90∘ , 89∘ , 92∘

https://dl.doubtnut.com/l/_02DUKNjhQvt8


25. Multiple choice questions 

One of the base angles of an isosceles triangle

is  then its third angle is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

45∘

45∘

60∘

100∘

90∘

https://dl.doubtnut.com/l/_DwBNUQdm0VfW


26. Multiple choice questions 

The number of obtuse angles that a triangle

can have

A. 2

B. 1

C. 3

D. 4

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_6y2KNmRPWMWx


Exercise 3

1. Find the length of the unknown side is each

of following figures 

Watch Video Solution

https://dl.doubtnut.com/l/_l9rfgUqMgbdH


2. Find the length of the unknown side is each

of following figures 

Watch Video Solution

https://dl.doubtnut.com/l/_l9rfgUqMgbdH
https://dl.doubtnut.com/l/_XCqO6e2a9NJB


3. Which of the following can be the sides of a

right triangle ? 

4cm, 5cm, 7cm 

In the case of right-angled triangles, identify

the right angles

Watch Video Solution

4. Which of the following can be the sides of a

right triangle ? 

1.5cm, 2cm, 2.5cm 

https://dl.doubtnut.com/l/_iFqG7JNjScql
https://dl.doubtnut.com/l/_A3xlrcYgFIBC


In the case of right-angled triangles, identify

the right angles

Watch Video Solution

5. Which of the following can be the sides of a

right triangle? In case of right angled triangle,

identify the right angles. 

2cm, 2cm, 5cm

Watch Video Solution

https://dl.doubtnut.com/l/_A3xlrcYgFIBC
https://dl.doubtnut.com/l/_tJf0XNACeiyF


6. Find the area and the perimeter of the

rectangle whose length is 15cm and the length

of one diagonal is 17cm.

Watch Video Solution

7. A 15m long ladder reached a window 12m

high from the ground on placing it against a

wall at a distance, find the distance of the foot

https://dl.doubtnut.com/l/_YRH3I7FT9CXX
https://dl.doubtnut.com/l/_LaGSCcEOuqYp


of the ladder from the wall, 

Watch Video Solution

8. The sides of a rhombus is 5cm. If the length

of one of the diagonals of the rhombus is 8cm,

https://dl.doubtnut.com/l/_LaGSCcEOuqYp
https://dl.doubtnut.com/l/_II65JQDyd5Ux


then find the length of the other diagonal.

Watch Video Solution

9. A right triangle is isosceles.If the square of

the hypotenuse is 50m, what is length of each

of its sides?

Watch Video Solution

10.  is a triangle right angled at C if AC=

8cm and BC=6 cm, find AB.

ΔABC

https://dl.doubtnut.com/l/_II65JQDyd5Ux
https://dl.doubtnut.com/l/_UZ7Hn9tsIupT
https://dl.doubtnut.com/l/_XO99NqDlNq6E


Watch Video Solution

11. State whether the following triplets are

pythagorean or not 

(5, 7, 12)

Watch Video Solution

12. State whether the following triplets are

pythagorean or not 

(3,4,5)

https://dl.doubtnut.com/l/_XO99NqDlNq6E
https://dl.doubtnut.com/l/_uWfvoC5zjSx4
https://dl.doubtnut.com/l/_FViXBZeMrizN


Watch Video Solution

13. State whether the following triplets are

pythagorean or not 

(8, 9,10)

Watch Video Solution

14. State whether the following triplets are

pythagorean or not 

(5, 12, 13)

Watch Video Solution

https://dl.doubtnut.com/l/_FViXBZeMrizN
https://dl.doubtnut.com/l/_wMixX7SaGxvH
https://dl.doubtnut.com/l/_xakqgEd0utJI


Exercise 3 Multiple Choice Questions

1. In a , if 

then  is

A. 

B. 

C. 

D. 

ΔABC ∠A = 40∘ and ∠B = 55∘

∠C

75∘

80∘

95∘

85∘

https://dl.doubtnut.com/l/_xakqgEd0utJI
https://dl.doubtnut.com/l/_RrGxyOTIGEn3


Answer: D

Watch Video Solution

2. If the angles of a triangle are

, then it is

A. an isosceles triangle

B. an equlateral triangle

C. a scalene triangle

D. right angled triangle

35∘ , 35∘ and 110∘

https://dl.doubtnut.com/l/_RrGxyOTIGEn3
https://dl.doubtnut.com/l/_DUZGEsuQrV7g


Answer: A

Watch Video Solution

3. A triangle can have two

A. right angles

B. Obtuse angles

C. acute angles

D. straight angles.

Answer: C

https://dl.doubtnut.com/l/_DUZGEsuQrV7g
https://dl.doubtnut.com/l/_uwYIAkZuwSgc


Watch Video Solution

4. A triangle whose angles measure

 is

A. acute angled

B. right angled

C. obtuse angled

D. isosceles

Answer: B

35∘ , 55∘ and 90∘

https://dl.doubtnut.com/l/_uwYIAkZuwSgc
https://dl.doubtnut.com/l/_3d24UOhwDG2B


Watch Video Solution

5. A triangle is not possible whose angles

measure

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

40∘ , 65∘ , 75∘

50∘ , 56∘ , 74∘

72∘ , 63∘ , 45∘

67∘ , 42∘ , 81∘

https://dl.doubtnut.com/l/_3d24UOhwDG2B
https://dl.doubtnut.com/l/_lcKv3Boz4Bu1


6. A triangle is not possible with sides of

length (in cm)

A. 6,4,10

B. 5,3,7

C. 7,8,9

D. 3.6, 5.4, 8

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_lcKv3Boz4Bu1
https://dl.doubtnut.com/l/_JOdBmDnMSW63


7. In a right angled triangle, the length of two

legs are 6cm and 8cm. The length of the

hypotenuse is

A. 14cm

B. 10cm

C. 11cm

D. 12cm

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_4jTJ9hg7Vp4H


Exercise 4

1. Which of the following can be the sides of a

triangle? 

8cm, 10cm, 18cm

Watch Video Solution

2. Which of the following can be the sides of a

triangle? 

6cm, 4cm, 8cm

Watch Video Solution

https://dl.doubtnut.com/l/_FqtWpZcRgND4
https://dl.doubtnut.com/l/_f4KD2jgYAF56


3. Which of the following can be the sides of a

triangle? 

35cm,38cm, 40cm

Watch Video Solution

4. Which of the following can be the sides of a

triangle? 

3cm, 4cm, 10cm

Watch Video Solution

https://dl.doubtnut.com/l/_f4KD2jgYAF56
https://dl.doubtnut.com/l/_h6zHmXvaOWjn
https://dl.doubtnut.com/l/_csV3CxlMbHyi


5. A point O is in interior of a  use

symbols  to make the

following statements true. 

Watch Video Solution

ΔABC

> , < or =

OA + OB □ AB

6. A point O is in interior of a  use

symbols  to make the

following statements true. 

ΔABC

> , < or =

OB + OC □ BC

https://dl.doubtnut.com/l/_csV3CxlMbHyi
https://dl.doubtnut.com/l/_eoRDet9JMozj
https://dl.doubtnut.com/l/_ced6PDzHqZBq


Watch Video Solution

7. A point O is in interior of a  use

symbols  to make the

following statements true. 

Watch Video Solution

ΔABC

> , < or =

OA + OC □ AC

8. ABCD is a quadrilateral. Is

 ? 
AB + BC + CD + DA > AC + BD

https://dl.doubtnut.com/l/_ced6PDzHqZBq
https://dl.doubtnut.com/l/_WWmtXxr68rg7
https://dl.doubtnut.com/l/_5FDkRn3muLrq


Watch Video Solution

9. AD is a median of . Is 

 ? 


ΔABC

AB + BC + CA > 2AD

https://dl.doubtnut.com/l/_5FDkRn3muLrq
https://dl.doubtnut.com/l/_dMmg5KFZNaAK


Watch Video Solution

10. The length of two sies of a triangle are 4cm

and 6cm. Between what two measure should

https://dl.doubtnut.com/l/_dMmg5KFZNaAK
https://dl.doubtnut.com/l/_hzz1keihmqLD


Other Important Questions Multiple Choice

Questions

the length of the third side fall?

Watch Video Solution

1. How many parts a triangle have?

A. 1

B. 2

C. 4

https://dl.doubtnut.com/l/_hzz1keihmqLD
https://dl.doubtnut.com/l/_7eDDw7VrF7Rb


D. 6

Answer: D

Watch Video Solution

2. How many vertices a triangle have?

A. 1

B. 2

C. 3

D. 4

https://dl.doubtnut.com/l/_7eDDw7VrF7Rb
https://dl.doubtnut.com/l/_eC5dIesllCGS


Answer: C

Watch Video Solution

3. How many medians can a triangle have?

A. 4

B. 3

C. 2

D. 1

Answer: B

https://dl.doubtnut.com/l/_eC5dIesllCGS
https://dl.doubtnut.com/l/_NymhsvsjREgx


Watch Video Solution

4.  


What is measure of  ?

A. 

B. 

C. 

ΔACD

40∘

45∘

85∘

https://dl.doubtnut.com/l/_NymhsvsjREgx
https://dl.doubtnut.com/l/_CEt7lNANtIva


D. 

Answer: C

Watch Video Solution

5∘

5.  


What is value of x?

https://dl.doubtnut.com/l/_CEt7lNANtIva
https://dl.doubtnut.com/l/_hgrbAjYDkN5k


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

50∘

115∘

165∘

65∘

https://dl.doubtnut.com/l/_hgrbAjYDkN5k


6.  


The value of x is

A. 

B. 

C. 

40∘

60∘

70∘

https://dl.doubtnut.com/l/_jRhdZSEseOJh


D. 

Answer: C

Watch Video Solution

80∘

7.  


The value of x is

https://dl.doubtnut.com/l/_jRhdZSEseOJh
https://dl.doubtnut.com/l/_9CTdQic42Rh0


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

30∘

50∘

60∘

90∘

8. Which of the following statement is true?

https://dl.doubtnut.com/l/_9CTdQic42Rh0
https://dl.doubtnut.com/l/_aT97tLcqY5HJ


A. A triangle can have two angles

measuring right angle each

B. A triangle can have two obtuse angles

C. A triangle can have two acute angles.

D. A triangle can have all the three angles

greater than 

Answer: C

Watch Video Solution

60∘

https://dl.doubtnut.com/l/_aT97tLcqY5HJ


9.  


Value of x in fig

A. 

B. 

C. 

D. 

Answer: B

80∘

40∘

140∘

50∘

https://dl.doubtnut.com/l/_uTA5wMU1FO9D


Watch Video Solution

10. In an isosceles triangle angles opposite to

equal sides are …..

A. Acute angle

B. Obtuse angles

C. Equal

D. Right angle

Answer: C

https://dl.doubtnut.com/l/_uTA5wMU1FO9D
https://dl.doubtnut.com/l/_h8imtaUJ4mXZ


Watch Video Solution

11. The sum of the lengths of two sides of a

triangle is …..than the length of the third side.

A. smaller

B. Greater

C. Equal

D. None of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_h8imtaUJ4mXZ
https://dl.doubtnut.com/l/_SPuuGxiqEo31


12. In , side opposite to  is ….

A. QR

B. PQ

C. PR

D. None of these

Answer: C

Watch Video Solution

ΔPQR ∠Q

https://dl.doubtnut.com/l/_SPuuGxiqEo31
https://dl.doubtnut.com/l/_Hf6nqNR5O1bB
https://dl.doubtnut.com/l/_4ap5eRCDTAll


13. What is the sum of three angles of a

triangle?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

80∘

90∘

180∘

360∘

https://dl.doubtnut.com/l/_4ap5eRCDTAll


14. If one angle of a triangle is right angle then

sum of other two angles will be

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

110∘

80∘

100∘

90∘

https://dl.doubtnut.com/l/_k2O6KCAzWfgp
https://dl.doubtnut.com/l/_qqy2ptXfmbGZ


15. On which type of triangle Pythagoras

property can be applied?

A. Acute angled triangle

B. Obtuse angled triangle

C. Right angled triangle

D. None of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_qqy2ptXfmbGZ


Other Important Questions Fill In The Blanks

1. A triangle in which all the sides are equal in

length is an …..triangle.

Watch Video Solution

2. Line segment joining the vertex of a triangle

to the mid point of opposite side is known as

……

Watch Video Solution

https://dl.doubtnut.com/l/_77ZLE2m72enp
https://dl.doubtnut.com/l/_5rkbam3kLRbD


3. An …….of a triangle is equal to the sum of its

opposite interior angles.

Watch Video Solution

4. Sum of the angles of a triangle is …….

Watch Video Solution

5. In a right triangle, the square of ……..equal to

the sum of squares of its remaining two sides.

https://dl.doubtnut.com/l/_Ja6vTfwDVsBO
https://dl.doubtnut.com/l/_oPXbHgvcfmoe
https://dl.doubtnut.com/l/_Dmx9foowrxL0


Watch Video Solution

6. The sum of the lengths of two sides of a

triangle is …..than the length of the third side.

Watch Video Solution

7. The point of concurrence of the medians of

a triangle is called …….

Watch Video Solution

https://dl.doubtnut.com/l/_Dmx9foowrxL0
https://dl.doubtnut.com/l/_jMS2senA2nAf
https://dl.doubtnut.com/l/_lMPPRIv0eXBq
https://dl.doubtnut.com/l/_5zB1KONiVsmE


Other Important Questions True Or False

8. The point of intersection of the altitudes of

a triangle is called ………..

Watch Video Solution

1. All the altitudes of an obtuse triangle lie

inside the triangle

Watch Video Solution

https://dl.doubtnut.com/l/_5zB1KONiVsmE
https://dl.doubtnut.com/l/_XgRPwaq1ztz0
https://dl.doubtnut.com/l/_aVJLsB716n7A


2. All the altitudes of an equilateral triangle

are of equal length.

Watch Video Solution

3. Prove that if one angle of a triangle is equal

to the sum of the other two angles, the

triangle is right angled.

Watch Video Solution

4. 20cm, 12cm, 6cm can be sides of a triangle

https://dl.doubtnut.com/l/_aVJLsB716n7A
https://dl.doubtnut.com/l/_3ubK1CHqYDJS
https://dl.doubtnut.com/l/_wf0iTKhwdWKm


Watch Video Solution

5. Using vectors, show that the medians of a

triangle are concurrent.

Watch Video Solution

6. A triangle can have two right angles.

Watch Video Solution

https://dl.doubtnut.com/l/_wf0iTKhwdWKm
https://dl.doubtnut.com/l/_kW7dcwuwiUVt
https://dl.doubtnut.com/l/_7gkNJhlEUMdq

